Distribution function examples
Binomial distribution

TI-83 binompdf(5,.6,3)                      = .3456

TI-89 Stat List Editor                         = .3456
StatLitE                                              = .3456
TI-83 binomcdf(5,.6,3)                       = .66304

TI-89 Stat List Editor                          = .66304
StatLitE  (5,.6,0,3)                               = .66304

Chi-squared distribution

TI-83 chi2pdf(19.023,9)                      = .0084412221

TI-89 Stat List Editor                           = .008441222149

StatLitE                                                = .008441222149

TI-83 chi2cdf(0,19.023,9)                    = .9750019601

TI-89 Stat List Editor                           = .975001960136

StatLitE                                                = .975001960135
No invChi2 on TI-83

TI-89 Stat List Editor                           = 19.023

StatLitE chi2inv(.975001960136,9)    = 19.0230000001 (4 min 45 sec run-time)

F-distribution

TI-83 Fpdf(2.4523,24,19)                     = .0501418624

TI-89 Stat List Editor                            = .050141862385

StatLitE                                                 = .050141862385

TI-83 Fcdf(0,2.4523,24,19 )                  = .9749989576

TI-89 Stat List Editor                             = .974998957633

StatLitE                                                  = .974998957689
No invF on TI-83

TI-89 Stat List Editor                              = 2.45229999999

StatLitE finv(.974998957633,24,19)      = 2.45229999888 (7 min run-time)

Geometric distribution

TI-83 geometpdf(.4,6)                              = .031104

TI-89 Stat List Editor                                = .031104
StatLitE geompdf(.4,6)                             = .031104

TI-83 geometcdf(.5,3)                              = .875

TI-89 Stat List Editor                               = .875
StatLitE geomcdf(.5,0,3)                          = .875
Normal distribution

TI-83 normalpdf(37.5,35,2)                      = .0913245427

TI-89 Stat List Editor                                = .091324542695

StatLitE  normpdf(37.5,35,2)                    = .091324542695

TI-83 normalcdf(-1e99,36,35,2)               = .6914624678
TI-89 Stat List Editor                                = .691462467787
StatLitE  normcdf(-∞,36,35,2)                  = .691462461274

Exact Value (Excel 2003)                         = .691462461274013

TI-83 invNorm(.6914624613,35,2)           = 36.00000003

TI-89 Stat List Editor                                 = 36.0000008591
StatLitE norminv(.691462461274,35,2)    = 36
Poisson distribution

TI-83 poissonpdf(6,10)                               = .0413030934

TI-89 Stat List Editor                                  = .041303093412
StatLitE poisspdf(6,10)                               = .041303093412
TI-83 poissoncdf(.126,1)                             = .9926983175

TI-89 Stat List Editor                                   = .992698317478
StatLitE poisscdf(.126,0,1)                          = .992698317478
Student’s t-distribution

TI-83 tpdf(-3,18)                                         = .0083563059

TI-89 Stat List Editor                                   = .008356305872

StatLitE                                                        = .008356305872

TI-83 tcdf( -2,3,18)                                      = .9657465644

TI-89 Stat List Editor                                   = .9657465644388

StatLitE                                                        = .965746561095
No invt on TI-83
TI-89 Stat List Editor                                    = 1.93773022904

StatLitE tinv(.9657465644388,18)               = 1.9377302422 (11 min run-time)

